=) WiRE —8®8

LB ERIEXEELI —BE -0

o 5 yE® B N @
HHTEMRASE ] [ e . HBTIMLAL
33,390
Rl - f
3,190 14,200 10,000 B PMLAE RALfid D MLARE
9,350 4,000 4,850
FXEM ) HEEM
ABEM| AREW [ABEM
- AT
= A3yt
1 DODBDODDD D AS PO SPOOD DD
T
@ 3
T WEov Y-}
WGov7Y—} XL AR (RRLCER) ,
(RBECEE) i «[ Ls |I i ‘X\ \
. N T T
P DD E L 4 I
b= ml:‘ \ PDODL P 6.6 (%)
2 U JuELb L ol | H[ 2t32k B ‘
3 %D ]E]&L 1 > / EOKABRAN -/
I [ e ' i
. 3.0
\ ot o i O v ) i
\ ! [ 1\ : &%
NG 0 NG, DD DD DDV DD) P
T \ . -
L -
! [ =
< ,,.’\":’:_r,:,,”‘” 7 e, N
D[][]E][][Q[]][][J[][]D[][]E](]E][]g]ﬂ 3 _
L2202 2000 0 LIS - |
r DYy )= k4 r ) 3
R O L W T T 1 STy L L N )
o T T i i T T T s o (i Ll i i i e e A F [0y )
L L L Ll
B LML
+¥70y7)
L 39,000 J
A 8
B- BN A—AKE
10,000 3,350 18,020 21,020
3 10,000
°v? 3,000 3,020 2,990 3,000 3,050 2,450 3,010 6,000 16,020 —
12,020 3,000
i
" VY 241k WIA
_____ !
[} I ———— RI¥S
— #7559 —
2799 * == __.__u: 2 3’1‘! ? )]
| $E i1 e TR R S —— wxun| HHUAKETPE T A
______ J : Lo Lopdgh anan | LHERERBI RS |
i ® R| 1/100 1/50
Scmfy vy WARYE 3 K LW —
[ [ K K I

auss]




